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7:04 | Finding the Size of an Angle
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Class: >,

Examples

Find the value of each pronumeral,

1 @ right angle = QO‘D 2 CA straight angle = 180°> 3 G\ revolution = 360°, )

4 C[‘he angle sum of a triangle is 1809

134°

x° 18°

x=180-134-18
=28

x=90-67 y:180—134 a=360-90-60
=23 =46 =210

5 C[he angles in a quadrilateral total 360")

x=360-80-116-65
=09

Find the value of each pronumeral.
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m Time allowed: 45 minutes. A protractor is required. = Name:
m Part A: 20 multiple-choice questions (40 marks)
B Part B: 15 free-response questions (60 marks)

Part A 8 Which angle is

20 multiple-choiee questions ‘f;t;f‘:;gly opposite
2 marks each: 40 marks :
Circle the correct answer each time. A ZQTP B LSTP
C 4ZRTS D ZQTR

Ay
R
B 105° 9 ZABD =7 C D
D o050 / A 110° B 40° _
85° XX o a
C 35 D 15 350
75°
A B
uo
100°

2y°=7 10 u°=?

A 75° B 105° 105 A 50° B 140°

C 85° D 15° y° C ]0° D 100°

3 Vertically opposite angles are:
A equal B supplementary
C complementary D corresponding

11 Co-interior angles in parallel lines are:
A complementary B equal
C supplementary D vertically opposite

4 The marked angle is: A

A s 12 The angles marked x are:
OCB B ZA0C A alternate '(
C £A0B D £BOC 0 B complementary v %
C co-interior
C D corresponding

5 4°=7

B
13
A 110° B 120° a b
C 140° D 200° 120°
ao
6 The marked ahgles are:
A alternate
B corresponding * Fee ~ E
X

](; COIl.ll)tIe?le.ratary The size of ZDEF is:

conmtartor A 1166 B 56  C 64°
14 p°=?

W A 70° B 20°
C 140° D 40°

If these angles were listed from smallest to
largest, the order would be:

A YZXW B YXZW C ZWXY D ZXWY




Topic test 2: Angles continued

16 Which angle is
co-interior to u°?
A B y°
C w° b

17 Which angle is complementary to 80°?
A 10° B 90° C 100° D 180°

18 Which of these statements is true?
A An acute angle is 90°.

B A straight angle is the size of two right
angles.

C A revolution is between 270° and 360°.

D An obtuse angle is between 180° and 270°,

‘What is the size of the
acute angle between the
hands of a clock at

10 o’clock?
A 60°

C 30°

B 20°
D 80°

L

Which one of these statements is false?

A IML1PQ

B JK intersects PQ at R

C ZQRM and £LPRM are equal

D ZRSK and £TSM are vertically opposite

Part B

15 free-response questions
2 marks each unless otherwise specified:
60 marks
Show your working where appropriate.

21 Mark a pair of
alternate angles.

23 Draw aright angle
and label it ZPQOR.
Include the right
angle symbol on
your diagram,

24 (8 marks) Which angle is:
a co-interior to ¢°?

b alternate to ¢°7
¢ vertically opposite to ¢°?

d corresponding to ¢°?
25 Measure the size of the marked angle.

26 Find r°.

27 (3 marks) Find ¢°, b° and ¢°.

11554
g
D

28 (5 marks)

/E

it
/

c-/L 1_114

F HY

From this diagram, name:

a the pair of parallel lines, using
the symbol for ‘is parallel to’

b the point of intersection of
lines AB and EF

¢ a line that is a transversal

d an angle that is supplementary to ZJLM.




Topic test 2: Angles continued

29 (14 marks) Find the value of the
promumerals, stating the reasons for
your answers (alternate, corresponding
or co-interjor).

2 \.1.'"

C

\115°
| o
\

\

\
Nor
/

Pl se

60°

L4
k°
0o°

yo
a‘o -
35°
(10 marks) Complete each sentence by
writing an appropriate word in the space,

a angles add to 90°,

b The two parts of an angle are its arms and
its

6

¢ Parallel lines never .
d lines intersect at 90°.

e angles are found between
two lines and on the same side of the
transversal.

31 Use a protractor to construct a 35° angle,

32 Find y°.

33 Find b°.

34 Is UV parallel to WX? Give a reason for
your answer,

35 In this diagram, £DKH and ZILG are both
equal to 81°. Is DE parallel to FG? Give
reasons for your answer.

This is the end of the test,
(Use the back for extra working space.)
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Examples

Find the value of each -pronﬁmeral.

1 @ right angle = 909 2 @ straight angle = 1809 3 Q& revolution = 360°. )

1342 /37 < G
x=080-67 y=180 - 134 a=360-90-60
=23 =46 =210

4 (Ehe angle sum of a triangle is 1809 5 CI he angles in a quadrilateral total 360°.)
1

134°

5 18°

x=180-134-18

=28 : x=360-80-116-65

=99

Exercise

Find the value of each pronumeral.

s} =(:0¢/
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® Time allowed: 45 minutes. A protractor is required.
m Part A: 20 multiple-choice questions (40 marks)

m Part B: 15 free-response questions (60 marks)

Part A

20 multiple-choice questions
2 marks each: 40 marks
Circle the correct answer each time,
1x=?
A 5° B

/(O85

2 =9
@75° B 105°

C 85° b 15°

105°
D 9s5°

3 Vertically opposite angles are:
v (@cqual B supplementary
C complementary D corresponding
4 The marked angleis: 4
A ZOCB B ZAOC
¢ 408D £BOC

5a°=17
AQ)110°
C 140°

B 120°
D 200°

6 The marked angles are:
A alternate
B corresponding
€ complementary
v o-interior
7

W

e
o
N

If these angles were listed from smallest to
" largest, the order would be:

A YZXW B yxzw(CJIZWXY D ZXWY

Name: ) )
N‘\ vk it

8 Which angle is
vertically opposite
ZPTS?

A Z0TP B ZSTP
C £RTs V{D) QTR
9 LABD =1
10°
C 35°

B 40°
b 15°

10 u°=?
A 50° B 140°

C 80° -/@?m

11 Co-interior angles in parallel lines are:
£ omplemcntary B equal
3¢ j upplementary D vertically opposite

- 12" The angles marked x are:

A alternate
B complementary

/C co-interior

orresponding
13

The, size of LDEF is:
@/ 116° 56°

14p =7

A J70° B 20°

140° _(Dy40°

15 n° =7
/ B
105°

85°
150°




Topic test 2: Angles continued

16 Which angle is
co-interior to 1°7
A7 B »y°
/ @ w® D v
add wp o Gt
17 Which angle is complementary to 80°7
@ 10° B 90° 100° D 180°
18 Which of these statements is true?
A An acute angle is 90°.
/ A straight angle is the size of two right
angles. '
C A revolution is between 270° and 360°.
D An obtuse angle is between 180° and 270°.
19 What is the size of the

acute angle between the
hands of a clock at

o’clock?
iﬂ 0° B 20°
C 30° b 80°
20 L

Which one of these statements is false?

A IM L PQ

@.}’K intersects PO at R

C ZORM and £PRM are equal

D ZRSK and £TSM are vertically opposite

Part B

15 free-response questions
2 marks each unless otherwise specified:
60 marks
Show your working where appropriate.

21 Mark a pair of
alternate angles.

/

22 Find x°.
=20/

23 Draw a right angle
and label it ZPQR,
Include the right
angle symbol on Q
your diagram.

(8 marks) Which angle is:
a co-interiorto ¢°? ¢ °

b alternate to c°? §° / J/
¢ “vertically opposite to ¢®7 o’
d corresponding to ¢°? gjﬁ,/
25 Measure the size of the marked angle.

125° /

Trom this diagram, name:
a the pair of parallel lines, using o
the symbol for ‘is parallel to’ AB i }D

b the point of intersection ¢
lines AB and EF  J

¢ aline thatis a transversal [f /
d an angle that is supplementary to ZJLM.

(qgﬂ/ Z Cid




Topic test 2: Angles continued

29 (14 marks) Find the value of the
pronumerals, stating the reasons for
your answers (alternate, corresponding
or co-interior):
a -l /

31 Use a protractor to construct a 35° angle.

32 Find y°.

\f:; 1303/

./ 33 Bindd°.
Y =12 , B
ccwesPc}}lfrg b=%0 /

rd

/ 34 Is UV parallel to WX? Give a reason for
3 =0’ your answer.

aueie /

L:IZOG /

CGW(HM%
NO #8868 reccuse ’ﬂm (VY cper
olo oy o0d up 1o 80"

cl=35° /

, 35 Inthis diagram, ZDKH and £ILG are both
atterrure, 5

) equal to 81°. Is DE parallel to FG? Give
35° reasons for your answer,

30 (10 marks) Complete each sentence by
writing an appropriate word in the space.

a m}' it/ angles add to 20°.

Q he two parts of an angle are its arms and

¢ Paraliel lines never A ﬁg "/

d _ pevpoinghei ;tgn’y{es intersect at 90°. : Yes  bEXewse LHE)—/ i3 COWEsRy U@% :
e _ COWNRAGY gles are found between o LHKO
two 1i d'on th i
trzzsvlzza?[n on the same side of the This is the end of the test,
) (Use the back for extra working space.)




